CSUlse INSTALLATION GUIDE m

No. | Screw | Q'ty |Screw Picture Tool No.| Tool Picture No.| Screw |Q'ty |Screw Picture|Tool No.| Tool Picture
Material List st Me0 4 | (1) | 4 =\ stimero| 8| U |4 |1\
No. | Screw | Q'ty |Screw Picture No. | Screw | Q'ty | Screw Picture 59 |@16°53) 2 e=b '\g: 2?;2; z g
mi | @100 o | 4 S1|M6*10 | 48 G M5|@12:70| 2 | ==
M2 |@10'143) 2 | [ s2 Mg2s5| 2 |
M3 | 010177 2 | 7 S3 | M6*10 | 4
M4 | @10°285) 2 | o< S4 | M6'6 | 2
M5 | 91270 | 2 S5 | M6*28 | 6
M6 | @10*101 o S6 [nutMé | 4
M7 |@10"133] 2 S7 | M6*40 | 2
M8 | @1050 2 | S8 1638 2 | -
M9 | 91080 | 2 S9 |216*53| 2 =0
M10| @12%60 | 2 $10|@14*34 | 2 =
M11| 29*35.2| 10 S11|M6*15 | 10 (3
M12| @102 | 2 | SO S12|M6*16 | 10 @
S13|nutM6 | 4
S14|M5*16 | 2
# | 1| _—
# |1 | _—\
54 | 1
No. | Screw |Q'ty |Screw Picture|Tool No| Tool Picture No. | Screw | Qty |Screw Picture Tool No. Tool Picture No. | Screw| Q'ty | Screw Picture|Tool No.| Tool Picture
51 M0 | @ ) | & | "\ ;1 ZE)*LOO 122 3 e S1 |M6™10) 8 ad | @ | ="\
M11|@9°352 4 | w oo 2 |/ MI1109%52 4 | e
M3 (o0 2 |

FANNTEC WWW.FANATEC.COM




Wheel Angle
> Angle
Default Angle ¢ |
< Angle ==

For Fanatec

Wheels

No.| Screw |Q'ty|Screw Picture| Tool No. | Tool Picture
S1|M6*0| 4 cd
4 | _—=—\
S11| M6*15 | 4 wnl
M6 [@10*101| 2 >
M7 [@10133) 2 | ===
For Thrustmaster

Wheel T500RS

No. | Screw |Q'ty |Screw Picture| Tool No, Tool Picture,
S1|M6*10 | 2 =t
MB28 | 2 | o—
M6*10 | 4 =
M6*15 | 4 [S¢
M6*6 | 2 @ # | —\
@14*34) 2 =
210%82) 2 | v
nut M6 | 4 o)
_|Step 3|
X —[| Youcan put your pedal:
For Fanatec and Thrustmaster 3 || || 1.in the center (normal)
2. to the right 2.5¢cm

Pedals T500RS SR

The steel rods must be in contact with the aluminium.

_ 3. to the right 5cm

Put the front leg 1-2cm in the air (put
something under the front leg,eg book)

Step 1. Use screw S3 to screw S10 with the pedal holder at inside first.
Step 2. Install M12 into Tube with S1 (M6*10), S5 (M6*28) at correct position by your pedal type.

Step 3. Install your pedal on the pedal holder with screw S11 (M6 x 15), 2 or 4 pcs by your pedal type and position of screw hole.
Step 4. Install the pedal holder on the M12 and adjust the pedal holder 's position and angle.

Step 5. Screw the set screw (S4) in M12 tightly with the pedal holder.

Step 6. Use screw S1to screw pedal holder with M12 on outside.

Step 8.

For Fanatec and
Thrustmaster Shifter TH8RS

No. | Screw | Qty [Screw Picture |Tool No.| Tool Picture
S| M610 | 2 9

# | _——\
S12| M6'16 | 6
2 | Me25 | 2 5 | _—\
M10| 91260 | 2
M8 |g10'50 | 2
M9 |@10%80 | 2 e
S14 | M5*16 2 .@ (for future CSS product)

For Logitech

,fmf::: Shifters G25 / G27

Position plan

1 1A
M8 1B
or | 2 |2A
M3 5
M1 4 | 4A

5 | 5A

No. | Screw | Q'ty |Screw Picture |Tool No. Tool Picture
S7 |MG*40| 2 o |\
S5 M6'28| 4
s6 nutmg| 4 (D)

You will need a 10mm wrench for the self-locking nuts.

Q'ty |Screw Picture Tool No. Tool Picture

_—\

No. | Screw

s12/met6 | 4 ) 44

M4 010285 2 |

Pull the back side of seat
cover to cover the seat
back and pull down.

Cover

Put the seat cover to
cover-head area of
seat back first.

Tie the rope at the
underside of the seat.

WWW.FANATEC.COM




